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Probability Study Guide Date:

1. A die is rolled and a coin is tossed. What is the probability of...

a. getting heads given you’ve rolled a three b. rolling a four and getting tails

2. Atahigh school, of the 153 11th graders, 74 students are enrolled in Chemistry, 35 are enrolled in Biology, and
24 are enrolled in both subjects. What is the probability a student is taking Chemistry or Biology?

3. Statistics show that at an insurance firm, 76% of the clients are male. 34% of the clients are accident free. Ifa
client is to be chosen at random, what is the probability that the client is a male and is accident free? :

4. A bag contains five red marbles, six yellow marbles, and eleven green marbles. If one marble is drawn
' ) randomly, what is the probability...?

‘8. a gréen marble is not drawn
b. ared marble then a green marble

- 3. A sandwich is made with only one type of bread, one type of meat, and one type of cheese. There are 3 types of
bread: white, wheat, or rye; 2 types of meat: turkey or roast beef: and 2 types of cheese: American or Swiss.

a) Draw a free diagram to model the different sandwiches you can make,

b) How many sandwich choices are there?

6. In a class of 33 students, 22 take Geography, 24 take Science, 20 take French, 17 take Geography and Science,
17 take Science and French, 13 take geography and French, and 12 take all three courses. Determine the probability
that if a student is selected at random, the student does not take any of these 3 courses.

Style Color a, How many possible pairs of jeans are there if each pair has one style and one color?

Regular | Light blue

Loose fit | Indigo b, Suppose you have one pair of jeans of each possible style and color in the table; What is
Boot cut | Washed the probability of choosing a pair of black jeans at random?

) [Siim fit | Black
Bilue
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7. An insurance company selected drivers in a particular city to find a relationship between the age of the driver and
the number of car accidents. Given the following table.

I 1243

1725 15 23 | 40 | a. What is the probability someone chosen at random has had 2 accidents?

25-40 | 50 | 44 | 56 :
b. What is the probability someone chesen at random has had 1 accident given that

Overd49 1 62 | 22 | 11

they are 17-257

¢. Are Age of Driver and Number of Accidents in a year independent?

8. A survey is done and the reselts are tallied. I a person is selected at random, determine the ﬁrﬁbability that

Child | Teenager | Adult | 2 They have brown hair given that they are not a child.

Blond hair 23 34 67 b. They are a child and they have other colored hair.

Brown hair | 16 15 &3

c. Are having blond hair and brown hair mutually exclusive? Explain.

Other 24 | 21 70

~ 9. Consider the following table:

a. Find P(no surgery). '

b. Find P(death from disease).

c. Find P(no surgerydeath from disease),
d. Find P(surgery death from nondisease),

e. List two mutually exclusive events using the table.

10. Given you are choosing two cards from a standard deck with replacement, compute the following probabilities
a. Whatisthe pfobability of choosing a heart or a diamond? |
b. What is the probability of choosing a black or a club?
¢. Whatis tﬁe probability of choosing a 2 and a spade?

- d. What Is the probability of choosing a 2 and an ace?

11. A bag contains 6 purple marbles and 7 white marbles. Two marbles are drawn at random. One marble is drawn
and not replaced, Then a second marble is drawn. What is the probability that the first marbie is while and the

second one is purple?
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1. Adieis rolle coin is tossed. What is the probability of...
a. getting heads given you've rolled a three b. rolling a fou@getting tails

Vo oy =Wy # 8% Yy 2y 8

2. Atahigh school, of the 153 11th graders, 74 students are enrolled in Chemisiry, 35 i enrolled in Biology, and

24 are em'olled in both subjects. What is the probability a student is taking Chemistry or B 10]0gy‘7 {
M 35, / =
du,m W + / 5= 1% /155
o4 o o 153 ddat . _ 7.
3. Statistics show that at an insurance firm, 76% of the clients are male. 34% of the, clients are accident free. Ifa
clieit is to be chosen at random, what is the probability that the client is a male/fnd js accident free?
T male 9 ' -
VRS S ~ Mi 7,
' mecidat e b x. 34 =. 7584 ~ 27,
. 4. A bag contains five red marbles, six yellow marbles, and eleven green marbles, If one marble is drawn’
) randomly, what is the probability...? g r
it = , : :
a. agreen marble is not drawn / 77 507 ' ' {4 ‘ﬁ'
' ha

b. d marble/they bl % o = : _
a red mar e@agreenmgr e /9‘9' /3’\ lg?n 57 3 dw.

S, A sandwich is made with only one type of bread, one type of meat, and one type of cheese, There are 3 types of
bread: white, wheat, or rye; 2 types of meat; turkey or roast beef; and 2 types of cheese: American or Swiss.

a) Drawaneedwgfammmodel th‘e different ?mch&s ?gan make. /.]-«(5‘& lg /_r‘/__/il ..
. TLWM »5[,0155 f ‘e n’
_ . . WW\ “/,A. ﬂ \Q;S i

| Swiss @ . ' @
b} How many sandwich choices are there?

béﬁ 7. } = |7 cholees 5 4+ 4 +4 =1y cheices
/2

6. In a class of 33 students, 22 take Geography, 24 take Science, 20 take French, 17 take Geography and Science, 17 &
17 take Science and French, 13 take geography and French, and 12 tzke 2l three courses. Determine the probability 2.4 §

that if a student is selected at random, the student does not take any of these 3 gourses. Z’ Aﬁﬂ r{, "ﬁ)ﬂ 2 4N ﬁ 20 g

st dagyam O-top o r}x{ ,
7» Style Color a. How many possible pairs of jeans e the if Shch pair has one style and one color? 17T 45
Regular | Light blue v 176 dF

Loose fit | Indigo b. Suppose you have one pair of jeans of each possible style and cclor in the table. What is 1% Gt -

..\ Bootcut | Washed the probability of choosing a pair of black jeans at random?
./ [Simfic_| Black - - LP/ _ '/5‘ ~70Y 1y &6 4F
Blue 20 ©
7 7 hial
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- 8. An insurance company selected drivers in.a particular city to find a relationship between the age of the driver and
the number of car accidents. Given the following table,

~

Fa]/2)]3 < 4
1725 [ 15 |[23]] 40 8. What is the probability someone chosen at random has had 2 accidents? /5 Y g, id 2 8/£

25-40 | 50 {1441} 56 {150
Over 49 | 62 H2211 11 4!3/ What is the probablhty someone chosen at random has had 1 accident given that

e I T

c. Are Age of Driver and Number of Accidents in & year independent?

- ﬁcc&% 45 He chort - qg¢ Aoean F

influence +v Aceiclen S .
4_1, A survey is done and the results are tallied. Ifa person is selected at random, determine the ﬁrobability that
- .| Child | Teenager | Adult | 2 They have brown hair given that they are not a |:hil~(‘:l~.J &ﬂﬂ"‘n = 0{3’_ qud.?
{Blondhair | 23 | 34 67 o NeTaaild - 90 ¢
: b. They are a child and they have other colored hair. Q'J-f
Brown hair | 16 15 83 /358 ~79,
Other ( 24 % 91 70 ¢. Are having blond hair and brown hair mutually exclusive? Explain.
b A0 g0 - ﬁw o4 can't have bobn
' wn < Mtﬂwl (QQCWdI
[0, Consider the following table: 'H’U! e @/éj )

a. Find P(no surgery). %2 l/ 554
b. Find P(death from disease). 455 /¢ 41

¢. Find P(no surgerydeath from disease), 22{'5 / 594
d.-Find P(surgery death from nondisease). {373 /5,3 ¢
-e. List two mutua]ljr exclusive svents using the table. .

o 110 r%tr mf
| ﬂ diseag. + nendisease
1. Given you are choosmg two cards from a standard deck with replacement, compute the following probablllties
a. What is the probability of choosing a heart or a diamond? H’ CY T} Is/ﬁg, + f%%?’
b. What is the probability of choosing a black or a chub? o n N 2y =l
¢ & L Yy + sy e
S | L s 13)
D & Spade Yo, < 1%,
4 ac S
A« dce 4/5% sz

c. What is the probability of choosing a 2 and a spade?

d. What is the probability of choosing a 2 and an ace?

|2_. A bag contains 6 purple marbles and 7 white marbles. Two marbles are drawn at random. One marble is drawn
and not replaced. Then a second marble is drawn. What is the probability that the first marble is whilz and the

second one is purple? f’
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